Year 2 Homework Answer

Module 13: Grams and kilograms

1.
Gram Gram Kilogram
Kilogram Kilogram Gram
2.
> = <
> > >
3.
500 g 2509 35 kg
4.
a) 1000; 9
b) 2
c) 10
d) 500
e) 2
5.
Grams Kilograms | Kilograms | Kilograms




10.

11.

Lion Chicken Bag Key
400 kilograms 2 kilograms 50 grams 3 grams
= > <

< < >

< > <

4x4+2x2=%$20

a) gram; kilogram

b) 10; 20

a)F
b) T
c)F
d)F

a) @
b) @
c)@
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13.

14.

15.

16.

17.

18.
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6 kg 5070 ¢

6309 49 kg

1kg 8g 15 kg

2000 + 1500 + 2500 = 6000 g = 6 kg
Yes they can

2x5=10bags

20 + 36 =56 kg
56 ~ 8 =7 kg/bag

30 -2 2=26kg

Sheep Dog

Horse

6 kg 2 kg

12 kg




